Programming Problem #1
 Construct an algorithm that will 

· prompt an operator to input three characters, 

· receive those three characters, 

· and display a welcoming message to the screen such as 'Hello xxx! We hope you have a nice day'. 

Solved:

defining diagram:
	Input
	Processing
	Output

	char_1
	Prompt for three characters
	message

	char_2
	Get three characters
	char_1, char_2, char_3

	char_3
	Display message to screen
	 


 
solution algorithm:
Display_three_characters

            Prompt for char_1, char_2, char_3
            Get char_1, char_2, char_3
            Output message and char_1, char_2, char_3 to screen

END

 

input data:
	 
	First data set
	Second data set

	char_1
	S
	B

	char_2
	a
	e

	char_3
	l
	n


 
desk check table:
	 
	Statement
	char_1
	char_2
	char_3
	message

	First Pass
	Prompt
	yes
	yes
	yes
	 

	 
	Get
	S
	a
	l
	 

	 
	Display
	 
	 
	 
	yes

	Second Pass
	Prompt
	yes
	yes 
	yes
	 

	 
	Get
	B
	e 
	n
	 

	 
	Display
	 
	 
	 
	yes


Applied to Real Programming Using PERL
#!/usr/bin/perl

# Set up the system to capture one character at a time with out having
# to hit enter
system "stty cbreak </dev/tty >&1";
print "NIACC>";

# prompt an operator to input three characters
# receive those three characters
print qq{\n\nPlease input a single character\n};
$char1 = getc;
print qq{\nPlease input a single character\n};
$char2 = getc;
print qq{\nPlease input a single character\n};
$char3 = getc;

# and display a welcoming message to the screen such as 'Hello xxx! We hope you
have a nice day'.
print qq{\n\nHello $char1$char2$char3! We hope you have a nice day. \n};

Programming Problem #4
You required an algorithm that will read in a tax rate (as a percentage) and the prices of five items.  The program is to calculate the total price, before tax, of the items, then the tax payable on those items.  The tax payable is calculated by applying the tax rate percentage to the total price.  Print the total price and the tax payable as output.

defining diagram: 
	Input
	Processing
	Output

	tax_rate
	Read tax_rate
	total_price

	price_1
	Read five prices
	tax_payable

	price_2
	Calculate total_price
	 

	price_3
	Calculate tax_payable
	 

	price_4
	Print total_price, tax_payable
	 

	price_5
	 
	 


 
solution diagram: 
Calculate total_price, tax_payable

            Read tax_rate
            Read price_1, price_2, price_3, price_4, price_5
            total_price = price_1 + price_2 + price_3 + price_4 + price_5
            tax_payable = total_price * tax_rate
            Print total_price
            Print tax_payable

END

 

input data: 
	 
	First data set
	Second data set

	tax_rate
	.1
	.2

	price_1
	$20
	$20

	price_2
	$20
	$30

	price_3
	$20
	$40

	price_4
	$20
	$50

	price_5
	$20
	$60


 
expected results: 
	 
	First data set
	Second data set

	total_price
	$100
	$200

	tax_payable
	$10
	$40


 
desk check table: 
	 
	Statement
	tax_rate
	prices
	total_price
	tax_payable

	First Pass
	Read
	.1
	20, 20, 20, 20, 20
	 
	 

	 
	total_price
	 
	 
	100
	 

	 
	tax_payable
	 
	 
	 
	10

	 
	Print
	 
	 
	yes
	yes

	Second pass
	Read
	.2
	20, 30, 40, 50, 60
	 
	 

	 
	total_price
	 
	 
	200
	 

	 
	tax_payable
	 
	 
	 
	40

	 
	Print
	 
	 
	yes
	yes


Applied to Real Programming Using PERL
#!/usr/bin/perl

#   Read tax_rate
print qq{Please input the tax rate in decimal format \n};
$tax_rate = <STDIN>;
#   Remove the carriage return
chomp $tax_rate;

#   Read price_1, price_2, price_3, price_4, price_5
print qq{Please input the price of item one \n};
$price_1 = <STDIN>;
chomp $price_1;

print qq{Please input the price of item two \n};
$price_2 = <STDIN>;
chomp $price_2;

print qq{Please input the price of item three \n};
$price_3 = <STDIN>;
chomp $price_3;

print qq{Please input the price of item four \n};
$price_4 = <STDIN>;
chomp $price_4;

print qq{Please input the price of item five \n};
$price_5 = <STDIN>;
chomp $price_5;

#   total_price = price_1 + price_2 + price_3 + price_4 + price_5
$total_price = $price_1 + $price_2 + $price_3 + $price_4 + $price_5;

#   tax_payable = total_price * tax_rate
$tax_payable = $total_price * $tax_rate;

#   Print total_price
print qq{Total price is $total_price \n};

#   Print tax_payable
print qq{Payable Tax is $tax_payable\n};

